

# BID BULLETIN 01

Date:	02 October 2023
Project Title:	Supply and Delivery of Farm and Agricultural Supplies (VSU-GOODS-23- 41)
Location:	VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

## I. LIST OF REQUIREMENTS

Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
Technical Documents	
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php <b>502,432.50</b> )
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php <i>502,432.50</i> and the largest of which should be at least PhP <b>251,216.25</b> .
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies), if applicable
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 2,009,730.00)
	Or
	Committed Line of Credit (at least Php. 200,973.00)
(2 <sup>nd</sup> Envelope) FINANCI	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form

13 Original of duly signed and accomplished Price Schedule(s)



## Please take note:

1. In the Technical Specifications, bidders must state either "Comply" or "Not Comply" against each of the individual parameters of the specifications per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or GCC Clause 2.1 (a)(ii).

#### 2. Bidders are advised to use the latest GPPB forms for the following documents:

- a) Omnibus Sworn Statement
- b) Performance Securing Declaration (if applicable)
- c) Price Schedule for Goods Offered
- d) Bid Form
- e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

#### II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Convert all documents into Portable Document Format (PDF) and should be printable.
- 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government & Private	Statement of On-Going
	Contracts	Contracts
3.	Statement of Bidder's Single Largest	SLCC
	Completed Contract	3200
4.	Statement of at least two (2) similar completed	Statement of Completed
	contracts	Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7.	SCHEDULE of Requirements/	Schedule of Requirements
8.	Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at jessamine.ecleo@vsu.edu.ph before the deadline.

## **III.** Changes in the Bidding Documents

Original	
Section I. Invitation to Bid	(Amendment)
<ul> <li>5. A complete set of Bidding Documents may be acquired by interested Bidders on 22 September – 09 October 2023 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.</li> </ul>	<ul> <li>5. A complete set of Bidding Documents may be acquired by interested Bidders on 22 September – 09 October 2023 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means:</li> <li>The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details:</li> <li>Account Name: Visayas State University Fund 164 Account Number: <u>3572-1000-13</u></li> <li>Then send the deposit slip to jessamine.ecleo@vsu.edu.ph</li> </ul>
Section II. Instructions to Bidders	(Additional Instructions)
15. Sealing and Marking of Bids	Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use <b>Green</b> envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.



# IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

ltem #	Description	Unit	Qty	Unit Price	Total Price
1	Albendazole	liter	3	3,000.00	9,000.00
	One (1) liter in plastic container, good quality;				
	expiration date should be 1 year from date delivery				
2	Antibiotic	Vial	210	160.00	33,600.00
	PROCAINE Benzylpenicillin				
	BENZYLPENICILLIN Sodium				
	STREPTOMYCIN Sulfate				
	10mL				
	Good quality, expiration date should be 1 year from date delivery				
3	BUFFALO CALF GROWER, 50kgs	bag	10	2,250.00	22,500.00
	Description:				
	- Crude Protein at least 16%				
	- Moisture not more than 13%				
	- Calcium at least 0.9%				
	- Phosphorus at least 0.5%				
	- Crude fat 7-10%				
	- Salt not more than 0.5%				
	Good quality and follow the prescribed specifications				
4	Calcium (CBG), 100 mL	btl	12	300.00	3,600.00
	100 ml/btl.;				
	expiration date should be 1 year from date delivery				
5	Cattle Concentrate (feeds) Mash	bag	5	2,300.00	11,500.00
	50 kls./bag;				
6	Chick Starter, 50 kg per bag crumble	bag	5	2,000.00	10,000.00
	good quality;				
7	Chicken Layer Mash/crumble	bag	20	1,800.00	36,000.00
	good quality;				
8	DCM Injectable (Dextrose, Calcium, Magnesium),100mL	btl	81	300.00	4,300.00
	expiration date should be 1 year from date delivery				
9	Dewormer (Ivermectin Endectocide 100mL)	btl	5	2,500.00	2,500.00
	Good quality and acceptable to the end-user (not expired)				
	expiration date should be 1 year from date delivery				
10	Dewormer, (Albendazole), 1 liter	btl	12	4,500.00	4,000.00
	expiration date should be 1 year from date delivery				



11	Feeds, Dairy Buffalo Concentrate, 50kls	bag	184	2,850.00	24,400.00
	Crude Protein at least 15%				
	Moisture not more than 13%				
	Calcium at least 1.2%				
	Phosphorus at least 0.6%				
	Crude fat 7-10%				
12	Fertilizer, Complete, (14-14-14), 50 kg-bag	bag	6	3,000.00	18,000.00
13	Fertilizer, Urea (46-0-0), 50 kg-bag	bag	32	3,500.00	12,000.00
14	Forage Chopper, 3HP	unit	1	150,000.00	150,000.00
	Productivity: 1500 to 5000kg/hr				
	Cut sizes: 4mm to 8mm				
	Number of blades: 3				
	Required electric motor power: 3HP				
	Version: Base for Electric Motor				
	1. Used to chop forage for daily feeding of livestock or making silage				
	2. Can chop grasses like napier, mombasa, molato				
	3. Can chop sugarcane, sorghum and corn				
	4. A medium machine for small to medium farms				
	5. Simple and low maintenance				
	6. Chop sizes is adjusted by changing the belt position				
	7. Sharp driven feeding drums				
	8. Models available for electric motor, gasoline or diesel engine				
15	Glyphosate base Herbicide, 1L/Bot	btl	4	1,000.00	4,000.00
16	Haras "Sanggalab" with end curve, wood handle	рс	2	400.00	800.00
	at least 16 inches blade length;				
17	Heavy Duty Stackable Fruit Crate/Vegetable Fruit Crate	рс	4	600.00	2,400.00
	Heavy-duty stackable plastic fruit crate/vegetable fruit				
	crate Material: Plastic				
	Dimension (L x W x H): 21*15*12inches				
	Color: white				
18	Hog Gestating Pellets	bag	10	1,800.00	18,000.00
10	50 kg per bag;	Day	10	1,000.00	10,000.00
19	Hog Grower Pellets	bag	10	1,800.00	18,000.00
15	50 kg per bag;	Day	10	1,000.00	10,000.00
20	Hog Starter	bag	4	2,200.00	8,800.00
	50 kg/bag, good quality;	~~9		_,	-,
21	Insecticide, Lambda-cyhalothrin	liter	2	1,300.00	2,600.00
22	Ivermectin	btl	8	1,300.00	10,400.00
	■endectocide			.,	
	■10 mg/ml sterile solution for subcutaneous injection				





	■50 ml/btl.				
	expiration date should be 1 year from date delivery				
23	Long Liko/Haras " Sanggalab" with wood handle, curve end and no case at least 18 inches	рс	20	800.00	16,000.00
24	MOLASSES, 1000kg	ton	8	31,250.00	250,000.00
	good quality molasses, pure molasses no water added				
25	Molasses, 20 <mark>kg</mark>	container	23	850.00	19,550.00
	good quality molasses, pure molasses no water added				
26	Monodicalcium Phosphate 21% Granular Feed Grade, 25kg per bag	bag	33	2,650.00	87,450.00
	expiration date should be 1 year from date delivery				
27	Needle Hypodermic g18x1", 12 pcs	box	42	300.00	12,600.00
	good quality;				
28	Nylon garden net, Black, 100 m long x 10ft width	roll	5	4,400.00	22,000.00
	good quality;				
29	Oxytetracyline LA (200mg/ml), 100ml per bottle injectable	btl	30	1,200.00	36,000.00
	expiration date should be 1 year from date delivery				
30	Penicillin V Potassium+Streptomycin (Soluble Coblets), 50pcs/box	box	5	3,200.00	16,000.00
	expiration date should be 1 year from date delivery				
31	Plastic Tags/ Label T Type	pack	2	300.00	600.00
	Plastic tag, T-Type, waterproof, re-usable, white, 6 x 10 cm/ 2.36 x 3.94 inch,				
	100pcs/bundle or pack				
32	Povidone-Iodine 10% Solution	gal	8	1,900.00	15,200.00
	good quality; expiration date should be 1 year from date delivery				
33	Pullet Developer Pellet (PDP)	bag	5	1,400.00	7,000.00
	50 kg per sack; Pellet size is not more than 2mm				
34	Pullets ready to Lay, layer pullets	рс	85	450.00	38,250.00
	healthy condition; replacement of dead pullets should be done within 5 days from delivery				
35	Rice Bran D1, "tiki-tiki" 50 Kg. per bag	bag	3	1,200.00	3,600.00
36	Shovel Spade	рс	3	500.00	1,500.00
	good quality;				
37	Shovel, Square Point	рс	1	1,000.00	1,000.00
	27" SQUARE POINT SHOVEL				
	Blade: Black steel.				
	9-1/2" W x 11-1/2" L. #2 square point hollow back with a rolled step.				
	Heat-treated and tempered to resist wear and breakage.				
	Handle: Heavy-duty fiberglass for safety and durability. Bright yellow.				
	Plastic "D" grip handle for comfort.				
38	Soil Probe	рс	6	1,200.00	7,200.00



	Soil moisture probe				
39	Vitamin ADE	btl	8	600.00	4,800.00
	100 ml/btl.;				
	expiration date should be 1 year from date delivery				
40	Vitamin B-Complex	btl	8	1,200.00	9,600.00
	100 ml/btl.;				
	expiration date should be 1 year from date delivery				
41	Vitamin Supplements (B Complex+Liver Extact), 100ml	btl	25	1,920.00	48,000.00
	good quality;				
	expiration date should be 1 year from date delivery				
42	Vitamins Supplement, (ADE Injectable) 100ml	btl	42	800.00	33,600.00
	For animal health services;				
	expiration date should be 1 year from date delivery				
43	Weighing Scale Dial Type	рс	2	1,800.00	3,600.00
	Fuji-delete 20 kg Table Scale, Medium, Mechanical Dial Type, Legal for Trade, Anti-Bacterial Powder Coat, Big Bowl, FTB-20-delete				
44	Wound Spray	tube	10	360.00	3,600.00
	Dichlofenthion wound spray				
	Broad spectrum antiseptic				
	Larvicidal				
	Fly repellant				
	Astringent				
	Colorant marker				
	at least 86 ml/tube				
	expiration date should be 1 year from date delivery				
46	CMT (California Mastitis Test) Reagent	box	15	3,375.00	50,625.00
	Description				
	The CMT (California Mastitis Test) is a rapid cow-side test for early detection of mastitis				
	CMT Concentrate				
	Testing Paddle				
	Dispensing Bottle				
47	NYLON SYRINGE 20mL	pcs	24	1,000.00	24,000.00
	Product Name Veterinary Inoculator Syringe				
	Material Plastic Steel				
	Capacity 10ml/20ml				
	Suitable for Pig, Sheep, Chicken, Duck, Goose Livestock				
48	Povidone-Iodine 10% Solution	gal	9	1,900.00	17,100.00
	Good Quality, expiration date should be 1 year from date delivery				
49	Fertilizer, Urea (46-0-0), 50 kg-bag	bag	15	3,500.00	52,500.00
50	Silage Bag	рс	90	100.00	9,000.00



	Color: Black/ Gray				
	Usage/Application: SILAGE MAKING	1			
	Material: HDPE				
	Size: 25*50 INCHES				
	Storage Capacity: 50KG				
	Industrial Use: Agriculture				
	Pattern: Plain				
	Is It Reusable: NO				
	Weight: 170-180gm				
	Features: UV PROTECTED				
	Shape: TUBULAR				
	Height: 50 INCH				
	For Silage Making				
51	Pruning Saw	рс	1	550.00	550.00
	Size:13/330mm				
	Teeth type: Precision ground triple teeth edge				
	Materials: SKS 7TP1, 65 # Mn				
	Others: Curved				
	good				
52	Wheelbarrow	unit	1	3,500.00	3,500.00
	Metal Tray, Single				
53	Spring Weighing Flat Plate Scale "Timbangan" 100kg	pc.	1	6,000.00	6,000.00
	100 kg capacity weighing scale				
	With stainless steel flat plate				
	Aluminum dial				
	Heavy duty				
54	budding knife	pcs	2	500.00	1,000.00
55	Green plastic polyethylene screen, 1/8" mesh size	meter	20	100.00	2,000.00
	Height = 3 feet				
	Good Quality				
	High Density				
56	plastic crates	pcs	10	600.00	6,000.00
	Dimension (L x W x H): 21*15*12inches				
	Good Quality				
57	Polyethylene seedling bag, 6" x 10", black	kgs	4	250.00	1,000.00
	with holes				
58	Pruning shear	рс	3	500.00	1,500.00
59	Sacks, brand new	рс	120	25.00	3,000.00
	50kg capacity, nylon				
60	Self-adhesive Garden Fruit Tree Belt Grafting Tape Transparent Stretch Film	roll	5	250.00	1,250.00
_	Waterproof, flexible, stretchable, self-adhesive, soft and				





	elastic.				
	Biodegradable in sunlight, allowing gas to pass through.				
	Excellent moister barrier for grafting and budding.				
	Tape Size: Width: 3cm/1.18", Total Length: 120m/4724.41" (Approx.)				
61	Sprayer, Knapsack	рс	1	3,500.00	3,500.00
	Sprayer, Knapsack 16 liters capacity, Stainless steel				
62	Complete fertilizer (16-16-16), 50 kg-bag	bag	1	4,250.00	4,250.00
63	Fertilizer, Muriate of Potash (0-0-60), 50 kg-bag	bag	1	3,650.00	3,650.00
64	Fungicide, propiconazole 1 kg	kg	1	1,000.00	1,000.00
65	California Mastitis Test (CMT) Reagent	btl	7	2,050.00	14,350.00
	The CMT (California Mastitis Test) is a rapid cow-side test for early detection of mastitis				
	CMT Liquid Concentrate				
	not less than 350 mL				
66	CMT paddle	рс	20	1,350.00	27,000.00
67	Monodicalcium Phosphate 21% Granular Feed	bag	6	2,650.00	15,900.00
68	Povidone-lodine 10% Solution	gal	9	1,900.00	17,100.00
	Good Quality				
69	Vitamins Supplement, (ADE Injectable) 100ml	btl	13	800.00	10,400.00
	For Animal Health Services			TOTAL:	2,009,730.00

Jenars

DILBERTO O. FERRAREN BAC Chairman